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Note :

1. Attempt all p

t questions from all sections as per directions.

SECTION - A
s of this question : 2x5=10

(a) How does soci differ from psychology ?
(b) Why do workers join trade unions ?
(c) Define Max Weber's bureaucracy.
(d) What are joint management councils ?
(e) Explain the causes of labor unrest in India.
SECTION - B
2.  Attempt any three parts of this question : 5x3=15
(a) Define Industrialisation. Give an account of the
consequences of Industrialisation.
(b) Explain "The Guild System and Putting out System".
(c) Write an explanatory note on Braveman's Labour

Process Theory.

199322-199307] 1 [ Contd...



/

d What is meant by Factory System ? What are its
features ?

(¢) Examine the impact of Industrialisation on religion
and morality in India.

SECTION - C
3. Attempt any one parts of this question : 5x1=3
What are the major objectives of New Industrial Policy,
1991 ? '
OR ' ~

Explain the aims and flaws of the Industrial Licensing
policy in the sixtees.

4. Attempt any one parts of this question : Sx1=5
What are the essentials of a good grievance procedure ?
Discuss in brief

OR
"Industrial peace is a prerequisite of industrial growth of
a nation". Comment on this statement.

5.  Attempt any one parts of this question : 5x1=5
What steps should be taken to promote industrial
harmony in India ? Discuss.

OR
Why has voluntary arbitration failed in India ? Give
reason. -
6. Attempt any one parts of this question : 10x1=10

What is meant by model standing orders ? Are these
orders applicable to all establishments? What is the scope
of their application ?

OR
What are the causes of industrial disputes in India ?
Discuss the various economic causes of industrial dispute.
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